Problem 5.6

An uncharged 10-uF capacitor is charged by the current I(t)=10cos377t mA.  Find (a) the expression for the voltage across the capacitor and (b) the expression for the power.

Suggested Solution


[image: image1.wmf]0.01

11

0

377

0

1

2

()10cos(377)10(0)0

)

()()sin(377)|

()2.65sin(377)

)

()()()(2.65)(0.01)sin(377)cos(377)

cos()sin()sin(2)

()13.3sin(754)

t

t

CC

ittmACFvV

a

vtitdtt

vttV

b

Ptvtittt

xxx

pttmW

m

===

==

=

==

=

=

ò

       

 

   but    so,

 


_1053026891.unknown

